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N.B.: (1) Question No. 1 is compulsory.
(2) Attempt any three questions

out of remaining five questions.

I (a) Find the Laplace transform of e cosh2t

- 32 -4
(b)  Find the fixed points of w = B Also express it in the norffal S
I - 1 o | , _—
P + A where A is a constant and o (s the fixedwp®ih!,
W—a zZ-¢
transfo:mation parabolic?
I+1
(¢) Evaluate f (x*-iy)dz along the path 1) y=x, ii) §f 3
0
| N ﬁ 3x° =1 3
(d) Prove that Ll £ (x)=x, L(x)=

2. (a) TFind inverse Laplace transform

6
(b) Find the image of the tsian guiar région whose vertices are 1, 1+1, 1-1 under 6
the transformation w = 284 -9t raw the sketch.
() L RX) = [cosx] in (-7, 7). 8
3. (a) tourier series for f(x)=cosh 2x + sinh2x in (-2.2) G
2 -~
K : o cu  ou .
(b) l12holson simplified formula solve 2 = 0 given 6
> 4 Y

volve the equation v + fydt = l-g"

| TURN DVER
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4. (a) Ewvaluate J-

(J

(b)  Find half - range cosine series for f(x)=e*, 0<x<]

27 =3
(c) Obtain two distinct Laurent's series for f{z) = " 4; ~ 1N poWvers 8
- )
(z-4) indicating the regions of convergence.
5. (a) Solv. 05 0 by Bender - Schmidt method
. (a g e r - ,
olve o P v Bende chmidt method, ¢ 6
u(4,t)=0, u(x,0)= x(4-x). Assume h=1 and find the 'yl
(b) Find the Laplace transform of e* J.usin-fiu 6
. 4
(C) valuate 17 127+5 dz where C it 8
6
6
8
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